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With set theory well-
founded, we can turn 
next to formal natural-
number arithmetic …



PA (Peano Arithmetic)
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Selmer, what’s this open wff concept?

This says what?

That 2 multiplied by some number yields 4.
But this is very specific:  the successor 
of the successor of zero is specifically 2.

Here then is the general case with an “open” wff:

We’ve already seen it in our coverage of ZFC.

The open wff , where of course  is a free variable, can 
then be used to abbreviate the formula immediately above, 
and therefore expresses the arithmetic property ‘even.’

ϕ(x) x
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